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Name the first woman who have been jailed for Salt Satyagraha in Madras
Presidency?

a. Rukmini Lakshmipathi b. Durgabai

c. Satyawati d. Swaroop Rani

e. Answer not known

QL gmerd TSTISHSH0 © L] FHHWUTSHTHSHHe0 FOULBH Fopdhd OCFas (LpgHed
QLIGwTLDGIOT LTy ?

a. (Hbewi 6oL GO b. git&TUTU]

C. FHWTau) d. erveuemLs fmemd

e. alewL  OFHflwalsvenso

Which one of the following is not the achievement of Justice Party Rule?
a. Passing Communal G.O. of 1921 and 1922

b. Creating Public Service Commission

c. Granting Voting Rights to women

d. Non-cooperation Movement

e. Answer not known

SIS HemiLauBmled eiml LB BHEHlSHL Fule FTHener &je060?

1921 1oBmId 19228110 SeWNIQOT UGLILIUITS DITFTneRISHMm6N HlenBCeuBniwig)
& uenilwmenT GaHTeuTenemiuild 2 (HeuTshELUILl L G

QUETHEHDBE UTHGTNID UIPBIGLILIL L G

QRHBIMIPWITENLD EUISHLD

alemL G flualevenev

canow

Virtual G20 digital Economy Ministers Summit 2020 was organised by

a. Saudi Arabia b. Iran c. Iraq

d. Kuwait e. Answer not known

QuuiplaT G20 eegieniwed OQuTmenTEHTy WhHHfeeT &l L 2020 @60 6hHS
BTLLT6D DSBS L )7

a. goyd oGy ilwm b. rymest C. FIT&

d. @meus e. alenL O fuwalsdenev

Which of the following is/are true?
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i. Reformation may be identified with partial changes in the value
system and consequential changes in the quality of relationships.
ii. Transformative changes are characterized with radical changes in the
total system.
a.ionly b. ii only c.iand ii
d. None of the above e. Answer not known
BB EHTERILINAIB6T0 6151/ eTenau  Fifl?

1. ST1HmpeHaD aaiug waHiy Semwliled gBuBL UGS WIBBHIGET BHILD
°© malel HISHev gBUBID elenemey FHWTET OTBBRIGETTED  DIEHL UITEITLD

SITEUTLILIL 6VITLD.

ii. o (poTBB  IBBEIEET  CTHsd  Slled  Haly  LDTHBHBBISEHL 63
UM BLILIBSHHLILIBH B GIB60T.

a. 1wl @ b. ii (b c.1oBpub ii

d. aigleyiedemnev e. alewL OFflwalevensv

5. Wilson, Mathan, Guna can complete one round of a circular track in 10, 15
and 20 minutes respectively. If they start together at 7 am from the starting
point at what time will they meet together again at the starting point?

a.8 am b. 8 pm c.5pm

d.9am e. Answer not known

allevgenl, LDGHET, 6T HCWITT @ UL augalevTel @BUTMmBHUNET @(h SBems
wpemmBui 10, 15 1o@Bmid 20  pblmsefled Byl (PYSHDHEBIT.  DIGUTH6I
TS Leiteflulled &Temev 7 wWemSHEG @IIMBTHF &BBS OCHTLMISlIeL,
SIUTH6T LWewIBLD 61 ICLUTH CBHTLSHHLI LeiTallulled QeBTedF FhHLILITTEEIT?

a. 8 p.u b. 8 9. c.51.u

d. 9 ap.u e. alewL O MNuwialsvenew

6. Two exactly similar wires are stretched by the same load. Their elasticities
are in the ratio 5:3. The ratio of their elongations are

a.3:5 b.5:3 c.9:25

d.25:9 e. Answer not known
B @5 HDLIGBET FID DlETEY6TEN 6lMLWITEL &L 1gdh GFHTRISILLILL (HeiTerer.
slpBlear L Fuled Gemamideller ealdlmd 5 : 3 eeled Sblseller B

AP HLD 66016077
a.3:5 b.5:3 c.9:25
d.25:9 e. alewL GaMNuwaledenso

7.  Principles of scientific thinking are
(i) Empiricism
(ii) Rationalism
(iii) Skepticism
a.ionly b. ii only c.iand ii only
d. i, ii and iii e. Answer not known
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10.

Sflalwed FbHeneruller CsTeTenSHH6I

(1) SiiLeeTHLD

(i) LGSSTa TS

(iii) sBECsaLD

a. 1wl b. ii w1 Bb C.1iwmmib ii ol Bid
d. i, ii oBmd iii e. alenL GaMNuwaledenso

In the collective model of the nucleus, the shape of nuclear core is

a. Non-spherical b. Spherical c. Semi-Spherical

d. Circular e. Answer not known

SamISHHalell gl (B IHM  DDOLTD DEIHEHH  THSHMBU  UIQaISHMSL]
OUBMI(HESGLD?

a. Gamem eaugeuoB® b. Gsmen augeud

C. 9ImIHEHTeN MUgeILD d. e’ eaugab e. el Gflwelsveneo

Choose the stronger acid in each of the following pair.
1. H;O* or H,O

ii. NHs* or NH3

iii. HpS or HS

iv. H,O or OH-

a. H;O* NH4*, H2S, H.O
b. H,O, NH3, HS, OH-
c. H;O*, NH3, HS, H,O
d. H,O, NH4*, H,S, OH-
e. Answer not known
&6 OCaThsslulBeten  @elbeutm  Gxmguisvid euedeno WG SIbVSHMBHDH
GaxiTey GFUILIeYLD.

i. H;O* oye0e05 HO

ii. NH4* &j606051 NH3

iii. H»S o606z HS

iv. HyO seve0g1 OH-

a. H30+ NH4+, HzS, HZO
b. HO, NH3;, HS-, OH-
c. H;O*, NH3, HS, H,O
d. H,O, NH4*, H,S, OH-
e. alemL G Mualevenso

Find the ratio of 3km to 300m?

a.3:10 b.10:3 c.1:10
d.10:1 e. Answer not known

3 #l.ib-b&b 300 B L HESGD BenL Bui o eiten alHBHID HTEwIH.
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11.

12.

a.3:10 b.10:3 c.1:10
d.10:1 e. alenL O fwalsvenev

If the population in town has increased from 20,000 to 25,000 in a year find
the percentage increase in population

a. 50% b. 25% c. 75% d. 100% e. Answer not known
QM  BIISHHET  0HHTOHTNS QT  pewiged  20,000-a0(mHpHaH  25,000-815
OIFH BT HSHI6T6eNH 6leN60 DEHFH6T OHTNE DHSMIL FHAIHHMHH BHTEWIS.

a. 50% b. 25% c. 75% d.100%  e. alewL Oafwalsdenev
Match the following
A. Aposporty 1. Development of a sporophyte directly
from the gametophyte
B. Apogamy 2. Fruit formation without fertilization of
ovules
C. Parthenocarpy 3. Development of an embryo from an

unfertilized egg cell
D. Parthenogenesis 4. Development of gametophytes directly

from the sporophyte
A B C D

a. 2 3 4 1

b. 1 4 3 2

C 4 1 2 3

d 2 4 1 3

e. Answer not known

QUT(HHHIB

A. o1iBumerd@uim 1. Gao CLremul 1960(HH&H CHIIQuITS
er0BuUTGrmemLI’ o (HaUTG6GI

B. oniGunBsii 2. S(HOYMDTOGL LIPLD © (HeUTE&HeUSI

C. unfrggGemamiLi 3. sMHAUBTSH (PLewL CFe0L6VeN(HHEH H(H
® (HeUTeUS)

D. unirggGeamlmeidlerd 4. ero@uIBrmenul i9edlmbal GmIiguins
GalOL BLmenLI. 2 _(HeuTaud
A B C D

a 2 3 4 1
b. 1 4 3 2
C. 4 1 2 3
d 2 4 1 3
e. allewL  OFflwaledenso
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13.

14.

15.

The interaction of biotic potential with environmental resources, as seen in
populations showing the S - shaped growth curve, as:

dN / dt = rN (N - K) / K where N is the number of individuals in the
population, ¢ is the time, r is the biotic potential of the organism concerned
and K stands for

a. Carrying capacity

b. Maximum population size

c. Particular habitat

d. Biomass

e. Answer not known

S— agan auenTFF euemenedaldh &ML _(BID DHH6T OHTHUNL SHTewlILihalgh GLmed
SMMIFGHLO60 eUeThIGEHLeTer o ulfluied ymmedler GHTLTL:

dN / dt = rfN (N - K) / K @ng N eaaug wwosser Csrensulsd o eien
SHelpUTHee elewTenildbend t eleugsl GBI 7 eiaiugl FbubSIUL L 2 ulflerdaer
o ulflwed FHmer, BmId K ereiiuig.

SRIGLD HBest

DIFHBULF 1DHH6T OHTNH 66

GBI L eumpelL b

o Ul QuIm(meit

alenL g flualsbensv

© o0 o

According to the Niti Aayog’s Health Index (2021), _ ,  and emerged

as the top three states in India.

a. Uttar Pradesh, Assam and Punjab

b. Kerala, Tamil Nadu and Telangana

c. Andhra Pradesh, Maharashtra and Gujarat

d. Punjab, Karnataka and Haryana

e. Answer not known

2021 oub spewih GevelwlLi’ L mie Bunsdler ss1HMES  GBIuil e
, LOBBILD LB OTHIEVRISET  (PGH60  cpetill B MmibenerLl

L9 &S161T6T60T.

a. 2 S0 UFGsad, SierverTD BMID LIEhSFTL

b. Gsyenm, HWOWHTH WLHBHBID OFHeVIBIHTEIT

C. SYbdly LIJ6HEID, W&SMITOUT OBBID &HeITTH

d. ueham, &THETLST WBBID emfluimeT

e. alemL G Mualevenso

The first Indian male Badminton player to win a silver medal under men’s
singles in the world Badminton Championship was

a. Kidambi Srikanth b. Parupalli Kashyap

c. Sai Praneeth d. Pullela Gopichand

e. Answer not known
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16.

17.

18.

® V& ST eBBWT @BGUUBbST L grblweaadll Curiygselled OeusTerlL
USHSBID CeuadiB (pHed DHFHW SLewl BBGLUUBHSTLL  alenenwiml B aifiT?

a. dLmpldl ufsnbhd b. uruetell sagui

c. a1 Lyents d. yevBevev Bamiahd

e. allewL Oxfwealedensv

Justice D. Murugesan Committee has been constituted in 2021 to look into

the matter of

a. Reservation for Government school students in Tamil Nadu Police
Service

b. Reservation in Public Sector Units

c¢. Enrolment ratio of Government School Students in Professional
Courses

d. NEET Examination

e. Answer not known

2021860 pHwgsT D.  wpmpGasFa G STMUSHMmS — QLITUl

SOIENLDGHBLILIL LG

a. o&lueTel WTeITHEHSGHSH SOWHTH STealsd SHempulled B HIHSHH

b. QurgiIsaimB Boaembseisd B RHIHSE0H

c. Gxmhinscaluled SF&iliueTeal wreneuTHeler CaFTbend gD

d. B Gaitey

e. alewL Qg Mfwaisemev

Assertion (A): Science is complex, Abstract and multi faceted discipline
Reason (R): Scientific knowledge is concrete theoretical and synthetic

a. A istrue, but R is false

b. Both A and R are true, and R is the correct explanation of A

c. Aisfalse R is true

d. Both A and R are true, but R is not the correct explanation of A

e. Answer not known

aBm  (A): onelwed Foseomer, HHSHSHUIOTRT OBBID LIPS S SN
O\BTERIL MEUUITGHLD

smyewid (R): opflalwed ofley eteniugl, LGLIGOUTHeT, Camum®p LBEBId CO&TEGLL
(LPENBHEN6NT 2 6iT6NL SHBIIG]

a. A sflwuneng spemed R sHeupmeng

b. A R v &f, R, A aiBsarer silwmer alendsid

c. A zpaprerg R gflwmeng

d. Aib Rib gfl guemed R, A alBéarer sflwmer alendsne060

e. alemL G flwaledensv

Consider the following statements
Assertion (A): Simorgh (phoenix) launched two satellites
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Reason (R): It is a satellite carrier rocket
a. Both are true b. Both are false
c. A is false and R is true d. A is true and R is false

e. Answer not known
BIDHHEWIL QUTHSBIUIRIBHEMET  BH616wT
gaBm  (A): ACwrites (Jelderd) Srewih OCowbBemss Gsmersemer — allamienied

CsISHLgI

sryenid (R): @& QswBmss Cameismen aBHHIF CFOMID 66yH6UD DG
a. @yewipld Filuimengl b. ByewiBd HeupTes

c. A saprerg wBmpld R gflwrerg d. A sflwneng wBpid R seumprerg)

e. alowL  OFMwalsvensn

19. Read the following passage and answer the item that follow. Your answer to

this item should be based on this passage only
PASSAGE

Education Management information system has been brought online
wherein the database of every school, teacher and students in Government,
Government aided and private schools are maintained on real time basis.
Using this information several tasks are automated, simplified and reported
everyday.

Which one of the following is best implied in the passage?

a. Government has control over school

b. It helps government in taking well informed policy decision
c. Different stakeholder are involved in the system

d. It is beneficial to the school authorities and students

e. Answer not known

S8  CarhesUL(BeTen  USHwl UgHH  alemelBg el welldsa.
OMHIGENEH NN WITEOISH SLLTWITSL USHHUNET  Dolitenuled e1BHSLILLL HTH
Bmbas Geuewi(HLD

H60al  GeLTENIENID  HBEUL SIMIWLIL 6T Bewemiuwl  uPluITdd  OBTewi(h
gLl (b OFBTemNYHBHHBH. DIFHL DIFF, OPF 2 FHOUBID OBEWID  SHeofwimiT
ueTefdefenr oANWT wBLBID  TewiauTHelledl  FHJey HBeaUe0H6T  DleleulIGLTSH
Craflsaslipaamer. BHHHMIVBHMET LWSLGSHSH DHS 6CFweOLTBHENT6ISH]
ST QuSsLLBEHlemer, eealHTeEslIUBSHEm  GCoeid BHTeTCaHTHID  SPbens
oS LILIH S TmBen

SLDSHBHEWILBMIET 61gH FMBLILITET FnBBTe DienLoub?

a. odBGL uealsel WaHTer &L BLUTH

b. fApiiurer sdaIe0 cpeldTel CBTETNS (PIYOMBHEHS DTFBG BFH 2 Hab

C. ®aleuemolimed LeLCeuml SIUULL LRIGSTITH6T LIRIGHHSHIHI6T6T6IT

d. yered MiTaunasHBESID DBHBID OTETAITEEDSGHID BGH LUIICTENSHTH B(HdbBLD
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20.

21.

22,

e. alewL G flwailsdenev

Choose the correct answer
Given the situation due to COVID-19, the net borrowing ceiling of the states

were enhanced to of GSDP in 2021
a. 4 percent b. 3.5 percent c. 5 percent
d. 6 percent e. Answer not known
gflwrenr alewLemuwig GHihOHMH
Gxmall - 19 smyewiord gBULL  @Gbleneoulsd, LOTHeVEISTNET Hidy Sl 6ol
o Fgalyibl] 2021860 GSDP @eir &@ GubuBHISLILLL )
a. 4 F5aizpD b. 35 Fzaisbd C. 5 gzaisd
d. 6 Fzeizb e. alewL Gafwealsdenso
Match the following;:
A. Tropical Evergreen 1. Thorny Bushes
B. Tropical Deciduous 2. Tidal Forests
C. Semi desert 3. Tropical Rain Forest
D. Mangrove 4. Monsoon forest
A B CcC D
a. 3 4 1 2
b. 4 3 2 1
c. 2 1 3 4
d 4 2 3 1

e. Answer not known
LeTeu(hHeueTeuBenBL  OILIT(HEHHIH:

A. SISO 60 LIGEIDIDTBTS STHH6T 1. (WL LSHTH6NT
B. swemnoswiieo Gensouditd STBEH6IT 2. @5d HTHD6N
C. BN LITeN6VAIGIBIH6IT 3. SIWIGT LDGWIL 6V LDEDLPS SHT(HEB6IT
D. ggiinmevd srbHsei 4. L(HUSSTBWIS SHT([HEH6IT
A B C D
a. 3 4 1 2
b. 4 3 2 1
C. 2 1 3 4
d 4 2 3 1

e. alemL G Mualevenso

Assertion (A) : High density lipoproteins transport cholesterol from
Peripheral tissues to the liver.

Reason (R) : The elevation of lipids in plasma leads to the deposition of
cholesterol on the arterial walls, leading to atherosclerosis

a. (A) is false but (R) is true

b. (Both (A) and (R) are true, and (R) is the correct explanation of (R)

c. (A) is true but (R) is false
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23.

24,

25.

26.

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known

gaBm (A) : o wT SLTHH GasTwluyl uIsmseT UBs Hadseied Smbal

H6060TVIHGHB BTeVEOL JTeNevd BT 6lF 60 eTN3e6T.

smyewid  (R) : Wenmerdwomalsd o eiten el seflenr HIIG Sl  FeuTseisd

CBTeVEL I  LIaISBEG ablauGsHma. B&  OUmbsLoe
BHRUILGCHTE DBHFEES PGS SBSI.

a. (A) seaupl. semmed (R) &l

b. (A) wBpw (R) @yewign &M, Coeibd (R) eewug (A) albg shwmer

e BLOTGLD.

c. (A) afl, spemed (R) seupm

d. (A) wspw (R) Syewien &M, opemed (R) eeug (A) albg sfwmer

Q161 & &HL0606V

e. alewL G fwalsdensv

The largest west flowing river of peninsular India is

a. Mahi b. Sabarmati ¢. Narmada

d. Luni e. Answer not known

susmu @phsHwmaler Cuomg GCpTéalt umub Wshouflw B 61g?
a. e b. guimog) C. [BTDSHT

d. sure e. alewL. Oafwaledensd

If 5 persons can do 5 jobs in 5 days then how many days will it take for 50
persons to finish 50 jobs?
a.5 b.7 c.9

d. 11 e. Answer not known

5 puisel 5 Gouemevdenen 5 BT H6elled GFuigl PpQLUT elelled 50 [HLITH6T 50
Gouemevamener, 615HHeme BT H6iled GFuIg (WgLiLT?

a.5 b.7 c.9

d. 11 e. alenL GaMNuwaledenso

A reader reads 20 pages of a book in 2 hours in an uniform speed. How
much time will it take read 50 pages of the same book in the same speed?

a. 3 hours b. 4 hours c. 5 hours

d. 4 %2 hours e. Answer not known

@ @PILILL Gausdhaled @h USHBHmBL LSS @HeuT 20 UHSHISM6NLI
Lgshs 2 wenll Grrwrsma eelsd ST 965 GaussHHled 96xH UHHHHH6L 50
USSHISMENL LIS 6leleuene] Gmbyom@b?

a. 3 e b. 4 wewf C. 5 wewfl

d. 4% oewf e. alew QFfNuialsvensv

Which among the following was not a nomenclature for "Union Territory"
Previously?
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a. Scheduled districts

b. Chief Commissioner's Provinces

c. Part C and Part D states

d. Peculiar central enclaves

e. Answer not known
SpSHTemlILIBLUmeUB6 T  61gl el LfCshamseaier  (1phedHul  GUIWITSHET
&BlemL_WITg)?

I Leuenenotull GFTehaLlILL L LOTeUL L MISH6I
HEMEVEMLD  HLENGHTUITEH6ITEOT  LOTETEITRIBENT
ugs Cospib ugdh D wrpeoniserr
SHANHBHIUDTET LDSHHUI  LIGHSHH6IT

alewL G flualsvensv

©an o

27.  Which article of the Constitution states that the state to secure a social order
for the promotion of welfare of the people?
a. Article 38 b. Article 39 c. Article 37

d. Article 36 e. answer not known

0&FH6IT  [Hevenel CLIDLGSHHIMNSBHTE @(H FePSH  QUOMINS DJF UTHISTHD
Gouewi(hD 61IB 61hFH DFFlwievemioli] FLU L Lilifley gnpISma?

a. FlLinfey 38 b. s L0ifey 39 c. glLifley 37

d. sLinfey 36 e. alewL Gafwaledensv

28.  Choose the right answer among type:
Which of the following statements are true about Eleventh Five Year Plan of

India?
i. The main focus of this plan was towards faster and more inclusive
growth

ii.  This plan stresses that benefits of development should reach all
sections of population

iii. Increased rice production in the eastern part of the country

a.ionly b. i and iii only c.iand ii only

d. ii and iii only e. answer not known

SdHHeniL FaBmiseiey Fflwmearems Caibo%HBHDBLD

@bHwuralear  uHO@TSIBTNS WHSTBSH SHLHma uBpdu  Ueteuhd

FBuIHeled 61z Fflwmeng)?

1. BhHd HLHHT (IPpHHU  Haueld oledJauTel LOBEBID 2 66 Salul
auenTFFlenw CHTHHWSTE SHHHI

11. UeMTEFAWIGST  LeVaIE6T SIS HldH ST  SEmETU|D  ClFeaTmenL ul
GouewiBD 6TTLINSH BbhHDH HU LD eUelluBISHHIS MBS

. pIiger Spsel uGHseisd oifld o BusHSH SiHslHal

a.i wl @b b.i w@pb iii G

C.1 wmmub ii WL G d.ii wBmid iii G

e. alewL OFHfwailsvensv
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29.

30.

Which of the following statements are true about the location and extent of
India?

i. India is divided into almost two equal halves by tropic of cancer.

ii. India is the second largest country of the world in area

iii. The latitude and longitudinal extend is nearly thirty degrees.

iv. The standard meridian of India passes through Bhopal

a. (ii) and (iii) only b. (i), (ii) and (iv) only

c. (i) and (iii) only d. (i) (iii) and (iv) only

e. answer not known

Sphywmelesr UL wwBpib ugliuee] GBSSIL Uaeumd FaBupiseied 6Ig)
gilwimengl?

i. asLs Grosulamd G@hAHur graeiBg GG gl UGHoeL
LM &SI (H6TT6N G

1. ugliuenaled 2 eudlel @Fewilmeugkl Guflw BTG SbaHwT

1. oI BBl H1bs Crmasendsd BB o sten Gl Geledl &L FHl L

aptiugl 9@l oL@ ib.
mel. @hHw FH L HT1hs Crems GuTUTEL abWTs &L HH 6Fe0IDL

a. (ii) wmpud (iii) w0
b. (i), (i ) B (iv) oL B
c. (i) BpIDd (wemen) LOL(BLD
d. (i), (iii) wmpw (iv) wEb
e. alenL G flwalsdenev

The concentration Index was calculated by

i. Total population and total cultivable area in terms of persons per km?.

ii. dividing actual population of the district by the average population of a
district.

iii. Total population be correlated to the land area weighted according to its
productivity.

a. (i) and (ii) only b. (ii) only

c. (ii) and (iii) only d. (iii) only

e. Answer not known

Oepley GMIUIB ereleuTml eSSl LILBHBS.

1. @ &5 0 o 6fem BUTHET SgliLienLuled OLoTSHH 1DHH6T  OHTend
LOB3ILD
QrsHs grGuguiler LU

11. @(H LTl L ST 2 _6ewIenoWTel o6l OHTemsmul  DIDLOTEUL L SHaH6i

gyngm éHH6T OFHTensmul OBTeHI(h 6@ HH60

. Owrhs  wWEH6T  CFTHE  HFHET 2 BUSHH  HpEOIbG — goU
BleolILTLILL 63T OSHTLTLemL WG|

a. (1) wspd (ii) L Bw b. (ii) i Gw

c. (ii) wwmpud (iii) L Bw d. (iii) @b
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e. alewL GFfwealsdensv

31. Where is the largest solar power project of India located?
a. Rajasthan b. Karnataka c. Andhra Pradesh
d. Gujarat e. Answer not known
ObgHwraler WsLoufw @Giw Weaigss FHUL emig Bpeuiul Hetengl?
a. [JIegerdGITest b. spIL &b C. bFHriayésaib
d. omns e. alewL GaMNwaledenso

32.  Match the following
List I (Place) List IT (Excavated by)

A. Chandudharo 1. Aurel Stein

B. Kulli 2.].P. Joshi

C. Rakhigarhi 3. Majumdar

D. Dholavira 4. Amrendranath
A B CcC D

a. 2 1 3 4

b. 3 1 2 4

c. 3 1 4 2

d 4 3 1 A

e. Answer not known

QUT(HHSHIB

ulguied I (BL1b) uiguied 1T (Bamewti i L gi)

A. grerassr@ym 1. &LI6L erdle et

B. @6veV 2. J.P. Gmrad

C. grélasnitan 3. LDEILDGHTIT

D. Gsmevaiygm 4. ooCIHAHIHTSH
A B CcC D

a 2 1 3 4

b. 3 1 2 4

C. 3 1 4 2

d 4 3 1 2

e. alemL Oz flwalsoenesv

33. Choose the incorrect match
i. Suba - Sipahsalar
ii.  Sarkar - faujdar
iii. Pargana - Shiqdar
iv.  Village - Bakhshi
a.iand ii only b. ii only
c.iii and iv only d. iv only

e. answer not known
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QUTHGHHD BeveuTHauBmBEH CHTHOHHHHA|LD

L. &L - Flurgmeol

11. G BMT - QuemggiT

1.  uTsTen - FlebgmT

1v.  &lymow - UBHaY

a.i wmpud ii 1 Bib b.ii @B

C.iii wmmub iv 1l Hd d.iv wC @b

e. allewL Oxfwealedensv

34. ‘Kitab-I-Nauras’ is a collection of the poems of
a. Ibrahim Adil Shah - II b. ahmad - 1II
c. Tajud - Din Firuz d. Muhammad - II
e. Answer not known
‘B FHI-B-HEUTED 6T aTedTleufledr LML 60&6MesT OFHTGHUIL HIT6D
a. @UewiLmb SUIT&SID SIgeDL QT b. @rewiL_mb ©iH0&
C. HTWUIH-FHeT OLiehHerd d. ®yewi_mb (w05
e. alemL OFHMuwalsvensv
35. Sikandar Lodi was responsible for the foundation of the city in
1504 A.D.
a. Dholpur b. Gwalior
c. Etawah d. Agra
e. Answer not known
Sl.U. 1504 @60 Hipeulii’L BpEISHBG, FEahHHT Gevmy
DIYSHH6NIOTS  EHHSHMIT.
a. GxpmeoLf b. @eumeduii
C. FLLmeum d. syspm
e. allewL O flwalsdenso
36. Arrange the following territorial conquests of Alauddin Khilji in the correct

chronological order.
I. Ranthambor

II. Malwa

II1. Chittor

IV. Gujarat

a.Iv, L III, 11

d. IV, IIL 11, 1

SlevTa et Slevgdulledt  LNevTeu(hHLD
auflengliLg 61(LHIS.

I. pesrg @i

II. wredeur

I Agam

b. I, III, IV, 11

13 | Page

c. 11, IIL, IV

e. Answer not known
MpmbHuwl  CeuBpSisemen  (LPEDMWITET &6V
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37.

38.

IV. &g
a. IV, I, 1L, II b. [ III, IV, II c. L II, III, IV

d. 1V, IIL 11, I e. allewL OFflwalsdenso

Which of the following is/are correct about Cantonment Board?
i. It is delimited area where the military forces are permanently

stationed.
ii. It does not work under the administrative control of the Defence
Ministry
iii. They are grouped into three categories
a. (i) only correct b. (i) and (ii) are correct
c. (i) and (iii) are correct d. (iii) only correct

e. Answer not known

BHTGLTGTOW6T . euTilwiGHemsll LB S1pdbasetiLaubmier gl / eene gfl?

1. JTamleud eImIWBISSILLL Baiall GH60 BIHSIOTES HBISHSLILL Q[HEHEGLD
1. UTEISTIY DIMFFHHHeT S BUUTLIgET S B& OFulsoLfleudlsvemnsv
1. @emel (LSIBI QUNBHNTHL  LIfbBLILIL (HeTT6n.

a. (i) wi@w sfwreng b. (i) wmmw (i) sHwreremeu

c. (i) wbpp (iii) efwreremsy d. (iii) w 6w Fiwras

e. alewL O fwealsdenev

Match the following;:
Subject Year
A. Commission of Inquiry Act 1. 1968
B. Central Civil Services (Conduct) Rules 2.1850
C. Public Servants (Enquiries) Act 3. 1964
D. All India Service (Conduct) Rules 4.1952
A B C D

a. 1 2 3 4
b. 4 3 2 1
C. 4 2 1 3
d 3 1 2 4

e. Answer not known
SLpSHHemILaBenBLl CUT(HEHSHIH:
QuImpeiT (FLLID) S1,6001(H

A. elgmyenent SeMeRILF FULID 1. 1968
B. wsaws Gemioll Lellae (BLHms) alldloer 2. 1850
C. Qumgit uenflwmenTase (alFTyenewidelT) FL L LD 3. 1964
D. @0 @bFHuw uemideT (BLHMS) alddei 4. 1952

A B C D
a. 1 2 3 4
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b 4 3 2 1
C. 4 2 1 3
d 3 1 2 4
e. alemL G Mualevenso

39. Buddhist poet Asvaghosa wrote ‘Buddha Charita” in language
a. Prakrit b. Pali c. Urdu
d. Sanskrit e. Answer not known
USSP HalehT SleauCamagt “UsHx Fflema” eul Qomluiled erpleonTiT
a. Lynamsid b. umel C. 2 _(H&
d. Fwerddmasid e. alewL Gzfwalsdenso

40. Choose the right answer / answers about the supreme court of India.
i. The Supreme Court is the Upholder of the Constitution of India.
ii. The Judges of the Supreme Court hold office till the age of Seventy - two.
iii. The Indian Judicial System consists of a Single hierarchy of Courts.
iv. The Supreme court of India was constituted on January, 1950
a. (i) and (ii) only b. (ii) only
c. (iii) and (iv) only d. (i), (iii) and (iv) only
e. Answer not known
@bHu 2 FF BFHLABSMSEF GHHH Filwmer almLmuwsd BHiThHoHBHBLW.
a. 2 _FFHIISBLD AhHHU DFFUWEOmOLIDL Hlened BBISHIHID DML DLGHLD
b. o Fgpdoems BpHUNB6T 72 auuwigh auedy LISNUNeOBUILITT. .
C. @hHU HHSHHMB BB LIYHIeN60 HALDGTHB DiewLOLIenLS OlBT6emIL ).
d. 8w o FFBHwamd 1950-oud WG meraufl TS CHTLBIBLILIL L F.

(1) wBmd (ii) L Eb

(i) or (B

(iii) wBpd (iv) WL G

(i), (iil) mmib (iv) LG

e. alemL G fluwalsvenev

a.
b.
C.
d.

41. Which of the following statement with respect to the Indian President’s
power is/are correct?

i. Money bills can be introduced in the Parliament only with his prior
recommendation
ii. ~ When the financial stability or credit of the nation is threatened, the

President can declare the Financial emergency

iii. The President is not answerable before any court of law for exercising
the powers and duties of his office

iv. The administration of Union Territories is the responsibility of the
President
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42.

43.

a. i, iii and iv only b. ii and iii correct

c.iand ii only d. i, ii, iii and iv correct

e. Answer not known

Hemeurmld gnBupiseney @bHUl MemdHugd) DHsMrHH6e0 6151/ etewer Fflwimen?

1. GWIss  Heweve e @murﬂrj)@amuu_m LGB uewr  BFTHTHSH 6N
BILTEHLOBBSHS0 SPPSILGSS WQUID

11. BTL&T B HMLSHBHAMD DIFVVH SL&T DFFBISHSNHEG 2 6T6NTGLD
Gurgl GRUWITFHBHMEVAT Hig gy Henevenw! DBelHES (LPIQULD

1.  GQUWIEHSHSHMEVEUT S DINIGUEVSH S F| 60T SIFH BT BIH6NT LOBBILD

SLMLBMOT  LWISTUBSHIUSBG — hSHO6UT[H  HHIOSBHHT  (Lpest
QurmIiLTed  ©I6060

iwv. welwer LyGshgmseie HTaMssHHBES GHQUTHSHHMe0T GUITBILILITETEUT
a.i,iii ommub iv wl GGw g b.ii wmpd iii w’ GG &

c.i wmpid ii w GG & d.i,ii, iii wBm iv &

e. alewL OFHMNuwailsvensv

Chapter V of Part V of the constitution provides for a high officer of the
Parliament who would exercise vigilance over the expenditure of public
money. Heis

a. Comptroller and Audit General of India

b. Finance Minister

c. Auditor General

d. Prime Minister

e. Answer not known

opflwed grgemr UG V-air V-b oiSHwumud  wdsefer  (QUTH) LeiSHend
HEWIHTENSHD  BTLTEHOMBSHIHGT @F 2 Wl SiFHsmfleow Buwerd CFuiSBg.
SlaUT SLOUIT

a. @LBQ)‘TUJ HENEVEMID H6001HNSH LOBMILD  BH6v0T&HHT6NIT

b. P& oimwFa

C. HENEVMID FH6001&H6NBUITENIT

d. Mysw whHHM

e. alewL G fwalsdensv

Which of following statements are true about fundamental duties?

i. Fundamental duties are laid down in Article 51-A of the Constitution
ii. 86t amendment Act, 2002 added 11t fundamental duty to the list

iii. To develop scientific temper is not a fundamental duty

a.ionly b. ii and iii only

c.iand ii only d.iand iii only

e. Answer not known

SIQLILIL SSBLMDSH6T GBISHSHS SPSHETAVID 61he OFTBOBTLT&HeT Filwimeieneu?

1. SlgLILIeNL_& BL_GNLDBHGIT SITFUI606MLDLIL 66T alg) 51A ®)60
OBTBHSHBILIL (HeiTen S
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44.

45.

46.

ii. llougl 99l SLDMW  866UH  H(HHHEFF LD 200260 UL 1guledled

GairdbaLILIL (HelTeng
1.  Sflefwed LOGITLILITGIIENIOEMU GUTTHHE0D 6(H DHQLILIHL  HL ENLOUIEDED
a.i LB b.ii @b iii G
C.1 wmmb ii L Hid d.i wBpd iii w’ @G

e. allewL Oxfwealedensv

Which of the following statements are true about Judicial Review?

i. The doctrine of judicial revies originated and developed in the U.K
ii. = The Constitution of India confers the power of judicial review on the
judiciary

iii. =The power of judicial review cannot be curtailed even by a
Constitutional amendment

a.iand ii are true b. ii and iii are true

c.1and iii are true d. i, ii and iii are true

e. Answer not known

b LemTuley UBpiwl SDeHSTERILILGLD aThdwmiseled odl/ etaneu Filwimetene?

1. b yegrwieyds  Camiurh w.Gs. (UK)  Garemwg  woBpibd

9 (HUTSHSLILIL LS.

ii.  @phgu  opdlwemll)  BIHHHMBES ~ HIUMITUIE] — AHSTTHDSH
SUIDEIG SIBSI

. B uyemmule] AHBTIHNSH PFuleoadioll] HHHSHID cLpeld  GHDBHD
PRUITSI

a.i wmpb i & b.ii w@mmd iii gl

c.i mmud iii &l d.i,ii wBpd iii &

e. alewL O Muwalsvensv

Which Constitutional Amendment inserted Article 43B for promotion of Co-
operative Societies?

a. 42rd Amendment, 1976 b. 44th Amendment, 1978

c. 86th Amendment, 2002 d. 97th Amendment, 2011

e. Answer not known

bhd DITFWEVMOLIL] HHHSHF FLLID Gnl (BB IFRISHIBMET e GallLSBHTHL
fley 43B — edwi @enenidhHdl?

Doad HHHHF FLULLD

491015 HHHHF FULID, 1978

oozl HHHSHF FLULID, 2002

97a0uz HHHHF FLULIb, 2011

alewL G flwalsensv

© oo o

Which one of the following fundamental rights has been wrongly listed?
a. Right to Equality
b. Right to Constitutional Remedies

17 | Page PH: 044-24339436, 42867555, 9840226187




c. Right to Exploitation

d. Answer not known

e. Answer not known

&6 CEThHHSILULL SigliumL. 2 fenoselled 6% SHaummenng?
FoHHI 2 Meno

SITFwevemol e clpevld &HiTey SHTemID o fenio
FHIYCWTL_eVIb(FH6mIL_ Mool 2 _flenip

&b o fenio

alenL G Muialsvenso

o an o

47.  Which article says that, “No child below the age of 14 years shall be
employed to work in any factory or in any hazardous employment”?

a. Article 27 b. Article 26 c. Article 24
d. Article 25 e. Answer not known
‘14 awgsE &b 2 6160  GUHHSHET  WTHD  CHTHBSLLD  DIEL6VS)
SIUTWSTOTET @)L miFelled Geuemev UMTHSS LTH’ - @mHd Fapid FUL L6y
o1&l?
a. glLiney 27 b. sl LinIfe 26 c. glLidfley 24
d. st Liifey 25 e. ol OFfluialevensv
48. Arrange the following in descending order of amount receipt in budget
estimates 2022:23
i. State excise i. Stamps and registration fees
iii. Motor vehicles tax
a. i, ii, iii b. ii, i, iii c. iii, i, ii
d.iii, ii, 1 e. Answer not known

2022-23 pFHpemey  omsemsulsr  Capmgmws  wHT0  BSpdEewiL  UBBIFFL B
CBHTmHMUL DBHIGeTmFUND 6T(LDSHIH

1. omHlev &Hevmed eurf] 1. (PpSHSHDT BBID L6 | &L L 6wID

11i. Guom LT eursenr &

a.1,1i, iii b. ii, i, iii c.1ii, 1, i1

d.iii, i1, i e. alewL Gxfwaledensv

49.  Which of the following statements are correct?

i. The nominal GSDP Growth of TN is estimated to be 14.0 percent in
2022-23

ii.  Inthe TN budget estimate 2022-23, the fiscal deficit is estimated at 3.63
percent GSDP

iii. The outstanding debt as a percentage of GSDP is expected to be 27.76
percent in 2022-23

a.ionly b. ii only c.1,1ii and iii

d. ii and iii e. Answer not known

Ueteupd saBmiseied siwmeteumBens Coibols®
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50.

51.

52.

i. 2022-23@60  SOPBT 96T Guwigenaled GSDP  eueniiddl 140 gFopaisons

BHeIHSHLLILBH MBS

ii. 2022-23, SLODBHT(H B &HBlenev SNl dben Uil GHTImUWILDAILIL|
mHiuBpTaGempuier  (fiscal  deficit) GSDP  3.63  sgeiswren

SIS LILBH MBS

iii.  2022-23@s0 GSDP uwienr szeisons Beiemeuisetsn sLer (outstanding

debt) 27.76 szeaiswns aHiunTssiILBGBBS
a.i (B b.ii wl @G c.1, 1l oBmibd iii
d.ii pmub iii e el Gxpflweilsvenev

Which of the following is not the role of NITI Aayog?

(i) Act as a think tank.

(ii) Power to impose policies on states.

(iii) Funds allocation

a.ionly b.1iand ii c. ii and iii
d. iand iii e. Answer not known
BIpHEWILUBle0 eTemal HH-CuITdhdle Lewll Ssvenev?

(i) @m uGmTFmen GaTs CFLILIBISI.

(ii) mBlevmiseisd S L misemen Hewlb@d ClFwedH BeT.

(iii) P8 921686

a.1iwl @ b. i oBmib ii C. ii o@D iii
d. i woBpb iii e. alewL  Gafwaledenso

Which of the following is NOT a feature of the joint family system?

a. Authoritarian structure b. Familistic organisation

c. Individualistic identity d. Depth of generations

e. Answer not known

LNeTeu(hHeueToUBmIT 6% Fnl (b GHBHIDL DIGOIOLILTET DIDFID Hi606V?

a. FTeurHany ojenioliL] b. &GO SEmLDLIL

C. FHNDANSH DIHL WITEITLD d. smeo(pemBHeie 2 6TenTihs HeTeno
d. alew Oxfweilsvenev

The objective of Tenancy reform is

a. Abolition of Intermediaries  b. Increase Rural Literacy

c. Regulation of Money Lenders d. Eradication of Rural indebtedness
e. Answer not known

BeVHGHHHND FTHPH([HHHF FLLGHH GHmHCHmel

a. QDL SHHTHTHMET [HHG DI

b. @ymolius sevalwiplener SiH SIS

C. &L GUPRIGLIUTHSMENT (LLenBL(HSHIHINDI

d. ymoliys BT Gewemnuwl OIS

d. alen Oxflweisvenev
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53.

54.

55.

56.

Which one of the following is the function of the finance Commission of
India?

i. Allocation of the shares of net proceeds of taxes

ii.  Laying down principles governing grant-in-aid

iii. Looking into the financial relation between the centre and the state
a.iand ii b. i, ii and iii c.1and iii

d. ii and iii d. answer not known

LNevTeu(heueieummled @bFHul HFH SenemibdHer GFuweour®d o1gl?

1. auflsefle MHar aumeuTUNeT LIMIGHeMeT a&HIhasH

ii. LOTETWLIBIGEeT [BiTeUdHb@GHID CBTeTenHHMET  61(EHH6E0

1. wWHFHW BB WIH SPSFHEHEGH DLW o e BHwseneuls UTTLILIGI
a.1 wBpd ii b.i, il wmpnd iii c.1 opmud iii

d.ii wBm iii e. alewL Gafwaledensv

Boothalingam study group is related to

a. Trade unions b. Strikes c. Lockouts
d. Wages e. Answer not known
Letteu(heueteummled LHeImISD SUIe|SHEGD 61HeIL 65T CHTLTLenL uigh)?
a. OamAB FhIGHIBE b. Geouemev MmIHHID

C. UL (BHe0H6 d. esgwikiselt

e. allewL  Oxflwaledensn

Which of the following journal is not associated with Subramaniya
Bharathi?
a. A New Daily b. Vijaya c. India

d. New India e. Answer not known
&6 OaETHHSLILL (HelTenm @HbH6Mev, 61H STl UTFHUL 6T G HTL LML WG
9|60V6V?

a. ¢ P, GLuied b. elgguir C. BpFHur

d. P, SpHur e. alewL GaMNuwaledenso

Match the following

Party Founder

A. Swarantra Party 1. Sohan Singh Bhakna

B. Gadar Party 2. Motilal Nehru

C. Swaraj Party 3. C. Raja Gopalachari

D. Forward Bloc Party 4. Subash Chandra Bose
A B C D

a. 1 2 3 4

b. 2 1 4 3

c. 1 3 4 2
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d 3 1 2 4

e. Answer not known

QUT(HHHIH

&L & b mI6160TLD

A. azbdrm sl 1. Gonmeit FAm LIGeoIT

B. 5T &1 4 2. Grgleomed G

C. swgmyuw s d 3. &. g1y GamumeonFaml

D. unfreu’ fenms &1 & 4. suTad FhaTGUITerd
A B C D

a. 1 2 3 4

b. 2 1 4 3

C. 1 3 4 2

d. 3 1 2 4

e. Answer not known

57. When the Government of India had decided to appoint a One Man
commission of Inquiry to inquire into the circumstances of the
disappearance of Netaji Subhas Chandra Bose. In 1945 ‘s name
was recommended by the then Chief Justice of India
a. Srinivasavaradan b. K.K. Ghosh
c. D.K. Roy d. G.D. Khosla
e. Answer not known
&.U.1945 B0 Chared Fumey FhHIGumed LwWiTwwTer (Wenpuled SBUCLUISmMSD
QHTLAHGH @ BUT GpdHHemeveniouller S algmgenen Bl SHHlel0Hear @bl
SIPFTRISD  (PYLBHSHSH FOUISHHD DIFIOBUL 2 FFHAHIO@MB HMEVMD LA

®er QuWienTL LMHSHIEDTSHSHTT
a. nfleurFauTdHesr b. KK. Gsray
c. KXK. gmui d. G.D. Gsmerveor
e. alemL OFHMuwalsvensv

58. Assertion (A): V.O. Chidambaram established the Swadeshi Steam

navigation company.
Reason (R):He wanted to oppose the monopoly of the British in Navigation
through the coast.

a. (A) and (R) are true and (R) is the correct explanation of (A)

b. (A) and (R) are true and (R) is not the correct explanation of (A)

c. (A)is correct and (R) is wrong

d. (A) is wrong and (R) is correct

e. Answer not known

Fgmml (A): QLY . FHLougd &G54 &SLILI6D BBIITHNHS

OBHTLmI|6oTTiT.
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59.

60.

asryend (R): @phaduis B30 QUT6mTLIS S 60 SLRIFBe0WITH 61T 60T
pBBIflenoenul DIUT THTHSHTT.

a. amp (A) wwpgw smgewid  (R)  &f, smeod  (R), (A)  s@Beos
alensGH B

b. (A) amm wpp (R) smewid af, eemed (R) stgewid (A) gnmenm
aNleT B 606M6V.

c. (A) spm af, (R) smyewid sHeum

d. (A) apm seuml, (R) smyewnd &

e. alewL Gafwalsdensv

Consider the following statements:
i. The partition of Bengal in 1905 was the most striking example of the
British divide and rule policy
ii. In the Calcutta meeting 1905 Surendranath Banerjee gave a call for the
boycott of British goods and institutions.
iii. On 7% August 1905 at Town Hall meeting in Calcutta, a formal
proclamation of Swadeshi movement was made
Which of the statements given above is/are correct?
a.ionly b. i and iii only c.iand ii only
d. i, ii and iii are correct e. Answer not known
LNeiTeU(HLD FnBBISHHEMET  HTCNISH.

i.  1905-860 GmOsmereniiul L eukisll Lflalemer oymisGeowifer Lflgamend
CameenssHE WesF FBbHe 2 SHTTEILOTEGLD.

ii. 1905-@60 BOLOUBB O&TeLHHHT  WAETLIGEL  FOIHAHIHETS — uTeTed
LI 19eg QUIT(HL_&H6m6ITULD (B BI6)6HIHENETU LD LI &b 6001 b
S (BHSHSTT.

1. 1905 suFerol 7-860 OBTLSSHHT HEBJ DIRIS60 HOLOUBM Fnl L G0
s6xd Qussd GHHS (Wenpwrel SBalli] eUPRISLILLL .

a.1iwl @ b. i woBmb iii ot Gib C.1oBmub ii ol Bib

d. i, ii woBmub iii sMwiTerg) e. alenL  Gxfwaisoenev

Second Round Table conference of 1931:
1. It was held during the reign of Lord Wellington as the viceroy of

India.

2. It was represented by Gandhi on behalf of INC. (Indian National
Congress).

Which of the above statement is/are correct?

a. 1 only correct b. 2 only correct

c. Both 1 and 2 correct d. Neither 1 nor 2

e. Answer not known

&.10. 1931 gub siewnget @yenitmeugdl Ul L Gengy LomHT(H:

1. QeuedmsL el Ly @bHwmaler eneuerdITwTed @ mbH CuTd HeL OLIBBSI.

2. @bsw Gzpdlw smmESFHar UFHHHwune  SMHeH  SDTHTLIQE  HeVHSI
(OB ITEUITLITIT.
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61.

62.

63.

64.

GuBseaiL FmpBpiseiey g/ eienel Filwimereneu?
a. 1 (b b. 2 ol B c.1 By 2
d. lib ©eve0, 210 SI606EL e. alenL GaMNuwaledeneo

Muhammadan Literary and Scientific Society of Calcutta was organised by
a. Amir Ali b. Dudhu Miyan c. Abdul Latif

d. Shariatullah e. Answer not known

CaTevsHFHTaled  (PpasLHWlET  SevdsSlwd BB  Spleluled  SjenLolienL
UGS Lo

a. oIt 96 b. siEen Wwimer C. OIIGIL 605D, LI

d. egflwggisveorans e. alewL Gafwalsdenso

In which excavation site Sir. Mortimer Wheelar used scientific and soil layer
method?
a. Pallavaram b. Attirampakkam c. Arikkamedu

d. Kaayal e. Answer not known

abd SBauTITIEFS LGHuled &1 GuommgwT eafeoT Spfielluied WLBBID et
SIbHG (WOBMWILI LIWIGTLIHE S 6ormiT?

a. LIGLGVTGULD b. @ibdribLTdsid c. 9Msa6wdH

d. &muwed e. el Oz fwalsdenev

During the ‘Later Chola Period’, ‘Irayili" was associated with

a. Tax free land b Taxed land

c. Tax levied on temple land d. Tax levied on leasing land

e. Answer not known

LUIlsmeod Gamp] smeudhdled ‘@empulel’ eaiugl _ OFHTLTLmL WIS

a. aufl @eveuns MHlevlD

b. el eu@eddbslu L Blevld

c. Gamuied MHevddHmE algdsiiul L aifl

d. 35smasE@ alllul L BeodhHmsTer eif
e. alenL  OFfluwalsoensv

Virudhunagar Sankaralinganar, involved in an indefinite hunger strike to
rename the Madras State as Tamil Nadu and died during
a. 1956 July b. 1956 October c. 1965 July

d. 1965 October e. Answer not known

OSHITH  IBeod, HOWHTH ey  OuwiT  wmmsp  Geuewny  al(HAHIBSIT
FRISTIMmIBEITT 2 ewienmalySHL0hHHH o ullT HWbHSH DLewiH

a. 1956 £9°mev b. 1956 &&GLmuT c. 1965 gg@amev

d. 1965 e&GLmuiT e. alewL GafNwaledensv

23 | Page PH: 044-24339436, 42867555, 9840226187




65.

66.

67.

68.

69.

70.

Who was the author of the book “Oppressed Hindus”?

a. M. Palaniswamy b. R. Veeraiyan c. P.V. Subramanian
d. M.C. Rajah e. answer not known

‘@BHBULLL BQbHHHHT 6B LUHSHBHHe pFfluiim wimir?

a. M. upefamd b. R. afyuiuwiest c. P.V. as0gwemiwiest
d. M.C. pgmegr e. alewL OaMNwaledenso

The compound interest on X 5,000 at 12% p.a. for 2 years compounded
annually is

a.%1,072 b.%1,172 c.%1,272

d.%1,372 e. Answer not known

©5,000-@ 12% opewih  euliguiled, 2 UWIBBEHSE, LT [HEHOGBT(HLPMM
QAL I9H HIHHILLLLLTD SHewLHGID Fol B UL IQUITEISI.

a.%1,072 b.%1,172 c.%1,272

d.%1,372 e. alemL O fwailsvenev

At what rate of simple interest, the principle X 48,000 will amount to X
55,560 in 2 years 3 months.

a.5% b. 6% c. 7% d. 8% e. Answer not known
o160 X 48,000 ooz 2 opemihEeT 3 WTHBTVHHBE IeT  SHefleul 19  eLpeoLd
Qwrsas CaTmswtes X 55,560 oue 2 WMbeHH 6@iled allly aiHD HTES.

a. 5% b. 6% c. 7% d. 8% e. alenL  Gxpfuiaisvemev

Which moral text is exclaimed as “Velaan Vedham”?

a. Thirukkural b. Asarakovai c. Proverbs
d. Naladiyar e. Answer not known

‘Gouenmemt Goumpld’ eteurl GUTBBLILIBD BHFH HTL E&I

a. HmBSmel b. syFTraGsTemnel C. upGompl
d. mmeviguimT e. alemL Gxfuwalsvenev

“Thirukkural and Kamban’s Epic would suffice to build a new civilization
even if the present one is completely erased”. Who said this?
a. Caldwell b. G.U. Pope c. Veeramamunivar

d. Ellis e. Answer not known

® eudlelled BTHMBD (PBBID DIPNHSHION LTID H(HHGHBEDHID, HLDLIGT STOTIUI(LPLD
B mbHHTeL GUTHID, LWIGL HHMIL LSHIINSHIONL60TD - 616IBI FnpsluieulT

a. &meL{HGEaIeD b. 29.uy. Gum C. afyom(pefieu

d. er6068erd e. alenL Gz MNuwaledenso

Who are the ones who brave the FATE?
“Oozhaiyum uppakkam kaanpavar” - yaar?
a. Learned b. Young people c. Deligent people
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71.

72.

73.

d. Lazy people e. Answer not known

‘oaTenIPUID @ LILIdHID STEWILIT — WImT?
a. gmer@mm b. @emenGuimit C. alLmupwid o enL Guimi
d. GambBup d. alewL Qg flwalevenev

What Thiruvalluvar says are the qualities of an Ambassador?

a. Knowledge, Origin, Education

b. Love, Knowledge, Clarity of speech

c. Duty, knowing the fitting time, knowing the place

d. Purity, Resources, Courage

e. Answer not known

QRH SHTHIUNT G6MIMIGNTEHSH H(HeUGTEHEUT 6IUBENBDH TnNISIMBTT?

a. ofley, CxTMBLD, Heva] b. s, 9nfey, Oxelhs GCuss
C. &L, HTeUMIH60, @ LopsigHe0 d. gmuienio, glememienip, FHlewie]
e. alewL OFHMuwalsvensv

What is the meaning conveyed through the word “extinguish”?
With ghee extinguish fire!

It will prove harder by scandal to extinguish love

a. Life b. Put out c. System

d. Expertise e. Answer not known

“EruIwmed efiBISLIGCLID TSIBBMBIEL 6&H6TENEILITED

SO BISIIGLID 616060

aaiemIb Gmerfled ‘HmISIIGULD’ eTeiTLIGHe OUITHeT wirg?

a. SLUET b. oeisHsH6 C. (LPEDMBEMLD
d. uulevayemLenio e. alewL GaMNwaledenso

According to the Kural; “Gnalam Karuthinum Kaikoodum” when a man
wants to conquer the world what are the two things he should keep in
mind?

i. Wealth and Bravery/courage

ii. Time and Place

a.ionly b. ii only c.iand ii

d. None of the above e. Answer not known

“@ehTevlD H(HPBID MBIF({BD —

GuoBanmiul HHHGMeMeTLY Q(HEUT 2 _60&LD (LPIPEUMBUID MBLILIMBBE  &H(HFH ML
SlalT 6hd Bgewienl. SPbHEH GFweour Geuewmi(Bd?

(1) Gaebeu(pd afF(pid

(ii) smeu(pld @)L (Wib

a. i’ (B b. ii 1o @b C.1o@mmid ii

d. GuoBasTamid eTemaIL|D HI606V e. alewL GaMNuwaledenso
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74.

75.

76.

Tamilnadu housing board and Tamilnadu urban habitat development board
were created in
a. 1961 and 1970 b. 1951 and 1960

c. 1970 and 1960 d. 1960 and 1951

e. Answer not known

SOWBETH ol B eugdh eurflwd wBE@ID SOWHTH BSTIYB eumpall  Gubum’ G
aumflwd @ (Heurshsliul L OLewi{H

a. 1961 wmpib 1970 b. 1951 wBmib 1960

c. 1970 wmmib 1960 d. 1960 wpmip 1951

e. allewL  OFflwaledenso

Which of the following statement is/are true of free Drop Back Service
Janani Sishu Suraksha Karyakaram (JSSK)?
i. JSSK started as a pilot project in Tamil Nadu by TNHSP

ii. ~ Drop Back vehicle can transport mother with babies upto one year
a.only i b. only ii c. Both i and ii are true
d. Both i and ii are false e. Answer not known

ool fag  apsagr  sriwsyd  Seveus gy Gus  (Free Dop Back)
Cremauuied Lleiaumld FnBpIBeTed 611/ eTenal o aisTenin?
1. JSSK  spemgnr TNHSP o160 s0BT 1960 @ (1peiiBealmy &L IOTHS

OHTLBISLILIL LG

1i. oMl Gus THATD @[ UG GHWHOSHWWD HTOWU|D OHTew(h
GFeev aulfl alens CFULILILILL (HeiTerng

a.1 (b l9. i1 DU (HLD

Cc.i wpmid ii ByewiBd 2 ewiewo  d.i wB@mID i BTG HauBTeTe
e. alemL Ozflwalsoemnev

Match the following:

A. Senji 1. Stata durga

B. Anaimalai 2. Vana durga

C. Vellore 3. Giri Durage

D. Panchalankurichi 4. Jala durga
A B C D

a 2 3 4 1

b. 3 2 1 4

c. 3 2 4 1

d 4 3 2 1

e. Answer not known
SIS TemiLIeuBenBL CUT(HSHHIS:

A. GFehd 1. er0&H60 FHITHT
B. syemenioenev 2. QUe HITHM
C. Gouguri 3. & glter
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77.

78.

79.

D. umehameomignFd] 4. :M6v HITHT
A B C D

a 2 3 4 1

b. 3 2 1 4

C. 3 2 4 1

d 4 3 2 1

e. alewL G flwealsdensv

Which of the following are correctly paired?

1. Kaprekar - Astrophysicist

2. Janaki Ammal - Biologist

3. Debashis Mukherjee - Chemistry

4. Meghnad Saha - Mathematician

a. 1 and 4 are correct b. 1 and 2 are correct
c. 2 and 4 are correct d. 2 and 3 are correct

e. Answer not known
LNevTau(heueTeummled eTemeu FHWMTHL GUTHSHSUILIL (HelTend)?

1. LGyt - eumelwied SuimLiluleomerit
2. QTS SIDLOTEIT - o ulfluluwieomeri

3. Ggumeniled (p&HTe - Beuglufwieomerit

4. Gu&prd Framm - SenllgallleumenT

a. 1 ppb 4 gfwmereney b. 1 w@pid 2 sfwmearemel
C. 2 BpId 4 FHwTerenel d. 2 wBpwp 3 Flwrereme
e. alenL Ozflwalsdensv

World Youth Skills day is celebrated on

a. March 15 b. May, 15 c. August, 15
d. July, 15 e. Answer not known

© VB BM6NEhT HMeiT SHleold GBTeTL ML LILGBSIB [HI6l

a. wmg 15 b. Gw, 15 C. oiFHel 15
d. sgeemev 15 e. alewL GaMNuwaledenso

2PJ@8$LB1V#Q6 s GWIKCD3© £5FR7AY4P@ListoY7
% in the same way as $ 1 # is to

a.R£0 b.F£3 c.Fe3

d.5D e. Answer not known
2PJ@8$LB1V#Q6 s GWIKCD3O© *£5FR7AY4P@L aaiug sl
75 a&im @Hssiu LT $1# aaug eeieurm @&BaalLGD?

a.R£© b.F£3 c.Fe3

d.5D e. alew OFfNuialsvensv
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80.

81.

82.

83.

If x means -, - means X, - means + and + means - , what is the value of (3 -
15+ 19)x8 + 67

a. 8 b. 4 c.2 d -1 d. answer not known

X 616G +, — GTILIGI X, + 61T + OBIID + eTeiuigl — , eieied (3 -15 + 19) x8 + 6
®et1 FHIL 6T6dT601?

a.8 b. 4 c.2 d.-1 d. alen. OafMweiedemev

Which number replaces the questions mark for the following numbers?

a.21 b. 23 c.25

d. 27 e. Answer not known
SO OBTGEBLILL(helTenn  elanidelled aflearm  GMIuT HoH@GHL  UH60TS QUHLD  6T6uT
oIgl?

a. 21 b. 23 c.25
d. 27 e. alewL Oafuwaledenso

Find the volume of water tank measured 10 m x5 m x 1.5 m.

a. 75 litre b. 750 litre c. 7500 litre

d. 75000 litre e. Answer not known

10 16 X 5 150 X1.5 16 oeneeien @b BHTHOHT 1guler Gsmetenete] wimg?
a. 75 &L b. 750 &L LiT c. 7500 eIlLLiT

d. 75000 e LfT e. alenL OGxflwalsdenev

An aluminium sphere of radius 12 cm is melted to make a cylinder of radius
8 cm. Find the height of the cylinder.
a.24 cm b. 30 cm c. 36 cm

d. 40 cm e. Answer not known

12 Q5.6 ouweten T Slsvideluds Csmend o (heudsslul (B 8 CF.15 SyLpsiren
QT o (HeweTWTsd LIBBLUGSIBS. 2 (HeneTule o WIFD HTewlsb.

a. 24 Gg.18 b. 30 Gg.6

c. 36 Q5.8 d. 40 Q.8

e. alemL G fualevenso
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84.

85.

86.

87.

88.

Which among the following is the simple interest for the principal of Rs.
1,000 for one year at the rate of 10% interest per annum?

a. Rs. 700 b. Rs. 500 c. Rs. 150

d. Rs. 100 e. Answer not known

Hetaumeusiaumnfled eig Rs. 1,000 oiaisatas @umeanibsd 10% e6am  aissHse0
SHevlleUl_lQuITGLb?

a. Rs. 700 b. Rs. 500 c. Rs. 150

d. Rs. 100 e. alemL Oxflwalsdamev

If the simple interest at the rate of x% per annum, for x years, is * x. then the
principal amount is

a. T x b. %(@j
X
100
c. %100 x d. e e. Answer not known
T oemigB&H, X% ey aiHHH0 X — UMBIEHHEG HOLHGD Halal g
AIBHIOTRIH X 6Tel60 DIF6V6 LDSLIL] SIS LD.
a. T x b. %(@j
X
100 .
c. %100 x d.X e e. alenL GHflweaisvenev

It2x +3y:3x + 5y =18 : 29 then x : y is

a.4:3 b.3:4 c.2:3
d.3:5 e. Answer not known

2x +3y:3x + 5y =18 : 29 aafled x:y elaiLgl

a.4:3 b.3:4 c.2:3
d.3:5 e. alenL Oxflwalsdenev

If 5:6 =x:12. Then the value of x is

a. 10 b. 6 c.12 d.5 e. Answer not known
GT&dN60 X — &1 LDGILIL
a. 10 b. 6 c. 12 d.5 e. alewL Gxflweaisvenso

What is the greatest possible volume of a vessel that can be used to measure
exactly the volume of milk in cans (in full capacity) of 80 litres, 100 litres and
120 litres?

a. 20 litres b. 25 litres c. 30 litres

d. 40 litres e. Answer not known

WU IoTsd  Biyuuiu Getenr 80  eJLLT, 100 edLT @mb 120 eJLLiT
OsTelTeniene] 2 6o  H6VEIH6NM60 UTeVenaT FlTed SeTHBHHEIQUI LTS ST &6
DFBUFE OSHT6lTeN6N6 61611616167

a. 20 eV L Tabeit b. 25 &L Litmel C. 30 &I L6l
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89.

90.

91.

92.

93.

d. 40 &L Litsmelt e. alenL Oxflwealsdemev

Find the HCF of 4% - 9 a x2, (a - 3x)?

a. (a® — 9x?) b. (a - 3x)? c. (a3 - 9ax?)
d. (a-3x) e. Answer not known

a3 -9 ax? (a-3x)? opFweunmples BLOLI®H COUTH UGSHDHemLI HTEwIS.

a. (a> — 9x?) b. (a - 3x)? c. (a3 - 9ax?)
d. (a-3x) e. alenL Gxflwaisdenev

Kumar borrowed 52,000 from a money lender at a particular rate of simple
interest. After 4 years, he paid 79,040 to settle his debt. At what rate of
interest he borrowed the money?

a.12% b. 13% c. 15% d.11% e. Answer not known
ST eaiueuT eh GUPIULILL Salally aldgdhdled — 52,000 sLeMsSL GLBMTT.
4 oWBHEHSHGL LUIBG SHABH SLaIHSTH  79,040-0F OCFeNHSHeTT ol6oi6v,
aIaiIe QUL 196IHHH0 SieUT HL 6T CUBMICTETT.

a.12% b. 13% c. 15% d.11% e. el Oxflwaledensv
How many terms of the series 13 + 23 + 33 + ..... should be taken to get the
sum 12967

a. 6 b.7 c.8 d. 9 e. Answer not known
13+23+ 33+ ... i3 OHTLMl60 61HBHME 2 MIILBM6N Fnl 196TTE0 FnBHe0 1296
&BemL_db(GLD?

a. 6 b.7 c.8 d. 9 e. alenL OFHfwalsvensv

Alluvial soil is rich in

a. Humus, Phosphoric acid, Lime and Organic matter

b. Iron, Lime, Calcium, Potash, Aluminium and Magnesium Carbonates.

c. Iron and Aluminium

d. Highly Saline and rich in organic matter

e. Answer not known

GUGITL_6V  LDGOIT CLP6ULD  GUGTTLOTEIIHTE 2 6IT6ITG.

a. W&FH W, urerdufds SIO6VID, FFewTenITIDL|, SMLDIIGLIT(HEIT

b. &miby, &ewiewImDY,  &meodlwd,  QuTLmaduid, Seifeiud  BmID
DSHTQUID HTTLIGCETL.

C. @&(mbY OBBID Sievidlefiwib

d. ebHs 2 (IHHED BBID HHS SMHDCICLIT(HETH6IT

e. alewL Gaflwalsvensv

“The Cultural Development is characterised by intellectual, aesthetic and
spiritual attainments” Who said the above statement?
a.].S. Mill b. S.M. Fairchild c. Max Weber
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94.

95.

96.

97.

d. Tansen e. Answer not known
“HeoTFFMy  eUeTFS  elaiLg DIfleY SIPSHUID OBBID YOS  FTHENEISHENT60
UmSLILBGSSUILGHBSEI” 1B CoBHewiL SaBml WIT(HenL Wgi?

a. Bg.e16r0.1060 b. ererv.enb. . .Guitendeo® €. Gipdberd GleuriLiT
d. LreiGaei e. alewL GaMNuwaledenso

Find the value of /3y/3.3...

a. 3! b. 32 c. 33

d. 34 e. Answer not known

DI BHTewIE: +3y/3/3...

a. 31 b. 32 c. 38

d. 34 e. alew GaMNuwaledenso

The average mark of 25 students was found to be 78.4. Later on, it was
found that score of 96 was misread as 69. Find the correct mean of the
marks.

a.77.32 b. 79.48 c.79.84

d. 97.84 e. Answer not known

25 wrewialTdeilesr Fgmafl wHICLeE 78.4 @mIEG 96 6B FHLILTEIH 69 6l
SHAUBIHEOTH  GIBSSULILL S S BUWIILILL S 6160160,  LOFHILIGILICIETEH6THE BHIT6I
gflwmer gynafenuis HTemIsm.

a.77.32 b. 79.48 c.79.84
d. 97.84 e. alenL  GaMNualedenso

The difference between the S.I and C.I. for 2 years for a principal of ¥ 5,000
at the rate of interest 8% p.a. is

a.¥ 32 b.X 35 c.%38

d. 42 e. Answer not known

X 5000 &, 8% oewip eaullguied, 2 YeuihdeHdEH Sl 9bGD dnl B
AL 1EGD el CuiwjeTern algglwmed

a. %32 b.X 35 c.%38

d.%42 e. alenL OGxflwalsdenev

If three candidates A, B and C in a school election got 153, 245 and 102 votes
respectively, find the percentage of votes got by the winner?

a. 48% b. 49% c. 50%

d. 55% e. Answer not known

A, B, C aai3 Gaul umeniiaelt Ueiel CxThpeded QUBMB aumdh@GHsen (pewmGui 153,
245 opmpib 102 eiediled Geuppsl Geul Limenflen 6uTdh@ FHAIHHMBHDH HT6wIH.

a. 48% b. 49% c. 50% d. 55% e. alewL GaMNuwaledenso
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98.

99.

100.

HCF and LCM of two numbers are 16 and 240 respectively. If one of the
number is 48, then the other number is

a. 80 b. 60 c.70 d. 90 e. Answer not known
B elewisemenr 15.0umeu wBpd 16.0umw.  (WemmGw 16 1oB@Id 240 LGLD.
Sleuall(m eTewrderlled, e 66wl 48 6T6dlle0 LOBOMT(T 6TEITNEMIS SHT6WISb.

a. 80 b. 60 c.70 d. 90 e. alewL GaMNuwaledenso
Human blood grouping was discovered by

a. Landsteiner b. Punett c. Correns

d. Muller e. Answer not known

eldH OTHD UMBHMETDH HevTLMlHFHeUT

a. Beveir_erdLe 6T b. yeiQe c. Gamiyeserd

d. webdevl e. alewL Gzfwealsdenso

Match correctly the common name with the Genus name of nematode
parasites

A. Ancyclostoma 1. Whip Worm

B. Enterobius 2. Hook Worm

C. Wuchereria 3. Pin Worm

D. Trichuris 4. Filarial Worm
A B C D

a. 1 3 4 2

b. 2 3 4 1

C. 3 4 2 1

d 2 1 4 3

e. Answer not known
BIBUW L (hewieniseiler Guflerns OuuimenLer GuTGeuTenr  Guuwieny  FRwmsL
GLIThSSH LD

A. oierengsGsomero@Lmiom 1. gmienL Lup

B. erenr@LnGrmiiuierd 2. QaTHE LD

C. a&560aCyhwm 3. (6T L(p

D. Leng@ierd 4. ..emuBsufluied Ljap
A B C D

a. 1 3 4 2

b. 2 3 4 1

C. 3 4 2 1

d 2 1 4 3

e. alowL  OFMwalsdensn
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